BID SUMMARY May 3, 2010

 No. CC050310-02.4 – Yard Waste Site Improvement – West Boulevard North – Project No. SWO10-1785 (Opened April 27, 2010)

	VERTISING AUTHORITY IGINEER'S ESTIMATE	\$60,000.00 \$57,072.00
2. 3. 4. 5.	SECO Construction Inc.* J&J Asphalt Company* Simon Contractors of SD Inc.* Tru-Form Construction* Stanley J Johnsen Concrete Contractor Inc.* Hills Materials Company*	\$57,748.30 \$47,646.95 \$57,281.75 \$50,596.50 \$41,257.25 \$49,864.75

No. CC050310-02.5 − 2010 Roadway Pavement Marking Project − Project No. PM10-1861 / CIP No. 50593 (Opened April 27, 2010)

ADVERTISING AUTHORITY ENGINEER'S ESTIMATE	Base Bid: Alt. 1: Alt. 2: Alt. 3: Alt. 4: Alt. 5: Alt. 6: Alt. 7: Alt. 8:	\$35,000.00 \$36,966.00 \$3,131.00 \$4,505.00 \$8,810.00 \$3,032.00 \$5,000.00 \$4,340.00 \$9,686.00 \$7,625.00
1. Traffic Services Company LLC*	Base Bid: Alt. 1: Alt. 2: Alt. 3: Alt. 4: Alt. 5: Alt. 6: Alt. 7: Alt. 8:	\$35,180.92 \$3,077.92 \$4,505.60 \$9,010.20 \$2,986.36 \$4,963.40 \$4,353.00 \$9,872.68 \$6,868.00

BID AWARD SUMMARY

LETTING DATE: April 27, 2010

PROJECT: 2010 Roadway Pavement Marking Project

Project No. PM10-1856 / CIP No. 50593

RECOMMENDATION: Award Base Bid Plus Alternates Number 2 and 4 in the amount of \$42,672.88 to

Traffic Services Company, LLC at the May 3, 2010 Council Meeting.

BIDDERS' SUMMARY

ADVERTISING AUTHORITY: - \$45,000.00

ENGINEER'S ESTIMATE: Base Bid \$36,966.00

Alternate No. 1 \$ 3,131.00 Alternate No. 2 \$ 4,505.00 Alternate No. 3 \$ 8,810.00

Alternate No. 4 \$ 3,032.00

Alternate No. 5 \$ 5,000.00

Alternate No. 6 \$ 3,340.00

Alternate No. 7 \$ 9,686.00

Alternate No. 8 \$ 7,625.00

Bidder	Base Bid	Alternate No.1	Alternate No. 2	Alternate No.3	Alternate No.4	Alternate No.5	Alternate No.6	Alternate No.7	Alternate No.8
Traffic Services Company, LLC	\$35.180.92	\$3,077.92	\$4,505.60	\$9,010.20	\$2,986.36	\$4,963.40	\$4,353.00	\$9,872.68	\$6,868.00

City staff recommends awarding this project to Traffic Services Company, LLC for a total bid amount of \$42,672.88 based on unit pricing with the following appropriation:

FUNDING SOURCE ADVERTISING AUTHORITY ENGINEER'S ESTIMATE

TOTAL	Traffic Operations
\$45,000.00	\$45,000.00
	See Engineer's Estimate Above

APPROPRIATION DATA:

FUNDING SOURCE
COST CENTER
LINE ITEM
FUNDING CENTER
BID AMOUNT

TOTAL	Traffic Operations
	0205
	4254
	0101
\$42,672.88	\$42,672.88

PROJECT MANAGER:

John Less, PE

DATE:

30 APRIL 2010

BID TABULATION

2010 ROADWAY PAVEMENT MARKING PROJECT PROJECT NO. PM10-1856 / CIP NO. 50593

BID LETTING DATE: APRIL 27, 2010

				ENGINEER'S ESTIMATE		TRAFFIC SERVICES	S COMPANY, LLC
ITEM NO.	DESCRIPTION OF ITEM	UNIT	QTY (EST)	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST
1	BASE BID						
2	BASE BID MOBILIZATION	LS	1.00	\$3,000.00	\$3,000.00	\$1.00	\$1.00
3	BASE BID REMOVAL ,12-INCH	LF	1,116.00	\$0.50	\$558.00	\$0.01	\$11.16
4	BASE BID REMOVAL, 24-INCH	LF	576.00	\$1.00	\$576.00	\$0.01	\$5.76
5	BASE BID GROOVING, 12-INCH	LF	1,116.00	\$6.00	\$6,696.00	\$1.00	\$1,116.00
6	BASE BID GROOVING, 24-INCH	LF	576.00	\$10.00	\$5,760.00	\$2.00	\$1,152.00
7	BASE BID TAPE, 12-INCH	LF	1,116.00	\$10.00	\$11,160.00	\$14.25	\$15,903.00
8	BASE BID TAPE, 24-INCH	LF	576.00	\$16.00	\$9,216.00	\$29.50	\$16,992.00
	TOTAL BASE BID				\$36,966.00		\$35,180.92
	ALTERNATE NO. 1						
1	ALT. 1 MOBILIZATION	LS	1.00	\$200.00	\$200.00	\$1.00	\$1.00
2	ALT. 1 REMOVAL ,12-INCH	LF	86.00	\$0.50	\$43.00	\$0.01	\$0.86
3	ALT. 1 REMOVAL, 24-INCH	LF	56.00	\$1.00	\$56.00	\$0.01	\$0.56
4	ALT. 1 GROOVING, 12-INCH	LF	86.00	\$6.00	\$516.00	\$1.00	\$86.00
5	ALT. 1 GROOVING, 24-INCH	LF	56.00	\$10.00	\$560.00	\$2.00	\$112.00
6	ALT. 1 TAPE, 12-INCH	LF	86.00	\$10.00	\$860.00	\$14.25	\$1,225.50
7	ALT. 1 TAPE, 24-INCH	LF	56.00	\$16.00	\$896.00	\$29.50	\$1,652.00
	TOTAL ALTERNATE NO. 1				\$3,131.00		\$3,077.92
	ALTERNATE NO. 2						
1	ALT. 2 MOBILIZATION	LS	1.00	\$200.0	\$200.00	\$1.00	\$1.00
2	ALT. 2 REMOVAL ,12-INCH	LF	130.00	\$0.5	0 \$65.00	\$0.01	\$1.30
3	ALT. 2 REMOVAL, 24-INCH	LF	80.08	0 \$1.0	0 \$80.00	\$0.01	\$0.80
4	ALT. 2 GROOVING, 12-INCH	LF	130.00	0 \$6.0	0 \$780.00	\$1.00	\$130.00
5	ALT. 2 GROOVING, 24-INCH	LF	80.08	0 \$10.0	0 \$800.00	\$2.00	\$160.00
6	ALT. 2 TAPE, 12-INCH	LF	130.0	0 \$10.0	\$1,300.0	0 \$14.25	\$1,852.50
7	ALT. 2 TAPE, 24-INCH	LF	80.0	0 \$16.0	\$1,280.0	\$29.50	\$2,360.00
	TOTAL ALTERNATE NO. 2				\$4,505.0	o 	\$4,505.60

				ENGINEER	R'S ESTIMATE	TRAFFIC SERVICES	COMPANY, LLC
ITEM NO.	DESCRIPTION OF ITEM	UNIT	QTY (EST)	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST
	ALTERNATE NO. 3						
1	ALT 3 MOBILIZATION	LS	1.00	\$200.00	\$200.00	\$1.00	\$1.00
2	ALT 3 REMOVAL ,12-INCH	LF	260.00	\$0.50	\$130.00	\$0.01	\$2.60
3	ALT 3. REMOVAL, 24-INCH	LF	160.00	\$1.00	\$160.00	\$0.01	\$1.60
4	ALT 3 GROOVING, 12-INCH	LF	260.00	\$6.00	\$1,560.00	\$1.00	\$260.00
5	ALT 3 GROOVING, 24-INCH	LF	160.00	\$10.00	\$1,600.00	\$2.00	\$320.00
6	ALT 3.TAPE, 12-INCH	LF	260.00	\$10.00	\$2,600.00	\$14.25	\$3,705.00
7	ALT 3 TAPE, 24-INCH	LF	160.00	\$16.00	\$2,560.00	\$29.50	\$4,720.00
	TOTAL ALTERNATE NO. 3				\$8,810.00		\$9,010.20
	ALTERNATE NO. 4						
1	ALT 4 MOBILIZATION	LS	1.00	\$200.00	\$200.00	\$1.00	\$1.00
2	ALT 4 REMOVAL ,12-INCH	LF	80.00	\$0.50	\$40.00	\$0.01	\$0.80
3	ALT 4 REMOVAL, 24-INCH	LF	56.00	\$1.00	\$56.00	\$0.01	\$0.56
4	ALT 4 GROOVING, 12-INCH	LF	80.00	\$6.00	\$480.00	\$1.00	\$80.00
5	ALT 4 GROOVING, 24-INCH	LF	56.00	\$10.00	\$560.00	\$2.00	\$112.00
6	ALT 4 TAPE, 12-INCH	LF	80.00	\$10.00	\$800.00	\$14.25	\$1,140.00
7	ALT 4 TAPE, 24-INCH	LF	56.00	\$16.00	\$896.00	\$29.50	\$1,652.00
-	TOTAL ALTERNATE NO. 4				\$3,032.00		\$2,986.36
	ALTERNATE NO. 5						
1	ALT 5 MOBILIZATION	LS	1.00	\$200.00	\$200.00	\$1.00	\$1.00
		LF	160.00		\$80.00	\$0.01	\$1.60
2	ALT 5 REMOVAL ,12-INCH	LF	80.00			\$0.01	\$0.80
3	ALT 5 REMOVAL, 24-INCH	LF	160.00				\$160.00
4	ALT 5 GROOVING, 12-INCH	LF	80.00				\$160.00
5	ALT 5 GROOVING, 24-INCH	LF	160.00				//////////////////////////////////////
6	ALT 5 TAPE, 12-INCH	LF	80.0				\$2,360.00
7	TOTAL ALTERNATE NO. 5	LF	00.00		\$5,000.0		\$4,963.40
-				***************************************			
	ALTERNATE NO. 6	10	40	0 \$200.0	0 \$200.0	0 \$1.00	\$1.00
1	ALT 6 MOBILIZATION	LS	1.0	200		A4071.000	
2	ALT 6 REMOVAL ,12-INCH	LF	120.0				
3	ALT 6 REMOVAL, 24-INCH	LF	80.0				
4	ALT 6 GROOVING, 12-INCH	LF	120.0			200000000000000000000000000000000000000	
5	ALT 6 GROOVING, 24-INCH	LF	80.0				
6	ALT 6 TAPE, 12-INCH	LF	120.0				
7	ALT 6 TAPE, 24-INCH	LF	80.0	\$16.0	×		×
	TOTAL ALTERNATE NO. 6			*************************************	\$4,340.0	00	\$4,353.0

				ENGINEER'S ESTIMATE		TRAFFIC SERVICES COMPANY, LLC	
ITEM NO.	DESCRIPTION OF ITEM	UNIT	QTY (EST)	UNIT COST	EXTENDED COST	UNIT COST	EXTENDED COST
	ALTERNATE NO. 7						
1	ALT 7 MOBILIZATION	LS	1.00	\$200.00	\$200.00	\$1.00	\$1.00
2	ALT 7 REMOVAL ,12-INCH	LF	300.00	\$0.50	\$150.00	\$0.01	\$3.00
3	ALT 7 REMOVAL, 24-INCH	LF	168.00	\$1.00	\$168.00	\$0.01	\$1.68
4	ALT 7 GROOVING, 12-INCH	LF	300.00	\$6.00	\$1,800.00	\$1.00	\$300.00
5	ALT 7 GROOVING, 24-INCH	LF	168.00	\$10.00	\$1,680.00	\$2.00	\$336.00
6	ALT 7 TAPE, 12-INCH	LF	300.00	\$10.00	\$3,000.00	\$14.25	\$4,275.00
	ALT 7 TAPE, 24-INCH	LF	168.00	\$16.00	\$2,688.00	\$29.50	\$4,956.00
	TOTAL ALTERNATE NO. 7				\$9,686.00		\$9,872.68
	ALTERNATE NO. 8						
1	ALT 8 MOBILIZATION	LS	1.00	\$200.00	\$200.00	\$1.00	\$1.00
2	ALT 8 REMOVAL ,12-INCH	LF	450.00	\$0.50	\$225.00	\$0.01	\$4.50
3	ALT 8 REMOVAL, 24-INCH	LF	0.00	\$1.00	\$0.00	\$0.01	\$0.00
4	ALT 8 GROOVING, 12-INCH	LF	450.00	\$6.00	\$2,700.00	\$1.00	\$450.00
5	ALT 8 GROOVING, 24-INCH	LF	0.00	\$10.00	\$0.00	\$2.00	\$0.00
6	ALT 8 TAPE, 12-INCH	LF	450.00	\$10.00	\$4,500.00	\$14.25	\$6,412.50
7	ALT 8 TAPE, 24-INCH	LF	0.00	\$16.00	\$0.00	\$29.50	\$0.00
	TOTAL ALTERNATE NO. 8				\$7,625.00		\$6,868.00

I certify that, to the best of my knowledge, this is a true tabulation of bids received for this project.

Am den	30 APRIL 2010	
John L∉ss, PE	Date	
Project Mahager		Contract awarded to in the amount of \$ a
		the Council Meeting.